

A NOTE ON A SUBCLASS OF CLOSE-TO-CONVEX FUNCTIONS

DONKA PASHKOULEVA

ABSTRACT. The object of this paper is to obtain sharp results involving coefficients bounds, growth and distortion properties for a subclass of the class of close-to-convex functions. We also consider the Fekete-Szegő problem for the same class.

1. INTRODUCTION AND DEFINITIONS

Let S denote the class of functions of the form

$$f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

which are analytic and univalent in the open unit disk $E = \{z : |z| < 1\}$.

Let C denote the class of convex functions [1], $f(z) \in C$ if and only if for $z \in E$,

$$\Re \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > 0.$$

Let S^* denote the class of starlike functions [2]:

$$f(z) \in S^* \text{ if and only if for } z \in E, \Re \frac{zf'(z)}{f(z)} > 0.$$

A function $f(z)$ analytic in E is said to be close-to-convex in E , if there exists a function $g(z) \in S^*$ such that for $z \in E$

$$\Re \frac{zf'(z)}{g(z)} > 0.$$

The class of such functions is denoted by K , see [3]. The classes S , K , S^* and C are related by the proper inclusions

$$C \subset S^* \subset K \subset S.$$

Now we will consider a class \tilde{K} defined as follows.

Let $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$ be analytic in E . Then $f(z) \in \tilde{K}$ if and only if there exists a function $g(z) \in C$ such that for $z \in E$

$$(1.1) \quad \Re \frac{zf'(z)}{g(z)} > 0.$$

Since $C \subset S^*$, it follows that $\tilde{K} \subset K$ and so, the functions in \tilde{K} are univalent.

Let P be the class of functions $h(z)$ given by $h(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$, which are analytic and have positive real part in E .

Let Ω be the class of functions ω analytic in E such that $\omega(0) = 0$ and $|\omega(z)| \leq |z|$ for $z \in E$.

2. KNOWN RESULTS

Theorem 2.1. ([4]) If $g(z) \in C$, with $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$, then:

- (i) $|b_n| \leq 1 \quad (n = 2, 3, \dots),$
- (ii) $|b_3 - \mu b_2^2| \leq \max \left(\frac{1}{3}, |1 - \mu| \right),$
- (iii) $|b_3 - \mu b_2^2| \leq \frac{1}{3} (1 - |b_2|^2).$

Theorem 2.2. ([5]) Let $h(z) \in P$, with $h(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$. Then

- (i) $|c_n| \leq 2 \quad (n = 1, 2, \dots),$
- (ii) $\left| c_2 - \frac{c_1^2}{2} \right| \leq 2 - \frac{|c_1|^2}{2}.$

Equality holds when $h(z) = \frac{1+z}{1-z}.$

Date:

2010 Mathematics Subject Classification. 30C45.

Key words and phrases. univalent functions, close-to-convex functions.

Theorem 2.3. ([4]) Let $g(z) \in C$, with $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$. Then, for $z = re^{i\theta} \in E$,

$$\begin{aligned} \frac{r}{1+r} &\leq |g(z)| \leq \frac{r}{1-r}, \\ \frac{1}{(1+r)^2} &\leq |g'(z)| \leq \frac{1}{(1-r)^2}, \\ \frac{1}{1+r} &\leq \left| \frac{zg'(z)}{g(z)} \right| \leq \frac{1}{1-r}. \end{aligned}$$

Equality holds if and only if $g(z) = \frac{z}{(1-\varepsilon z)}$, $|\varepsilon| = 1$.

Theorem 2.4. ([2]) Function $h(z) \in P$ if, and only if

$$h(z) = \frac{1 + \omega(z)}{1 - \omega(z)}, \quad z \in E,$$

where $\omega \in \Omega$.

Theorem 2.5. ([6]) If $h(z) \in P$, then for $z = re^{i\theta} \in E$

$$\begin{aligned} \text{(i)} \quad \frac{1-r}{1+r} &\leq |h(z)| \leq \frac{1+r}{1-r}, \\ \text{(ii)} \quad \left| \frac{zh'(z)}{h(z)} \right| &\leq \frac{2r}{1-r^2}, \\ \text{(iii)} \quad |h'(z)| &\leq \frac{2\Re h(z)}{1-r^2}. \end{aligned}$$

Equality is attained when $h(z) = \frac{1+\varepsilon z}{1-\varepsilon z}$, $|\varepsilon| = 1$.

3. SOME OF THE BASIC PROPERTIES OF FUNCTIONS IN \tilde{K}

Theorem 3.1. Let $f(z) \in \tilde{K}$. Then for $z = re^{i\theta} \in E$,

$$\begin{aligned} \frac{1-r}{(1+r)^2} &\leq |f'(z)| \leq \frac{1+r}{(1-r)^2}, \\ -\ln(1+r) + \frac{2r}{1+r} &\leq |f(z)| \leq \ln(1-r) + \frac{2r}{1-r}. \end{aligned}$$

Each inequality is sharp for $f_0(z)$ defined by

$$(3.1) \quad f_0(z) = \bar{x} \log(1-xz) + \frac{zx}{1-xz}, \quad \text{with } |x| = 1.$$

Proof. Since $f(z) \in \tilde{K}$, (1.1) gives

$$|zf'(z)| = |g(z)h(z)|,$$

for $g(z) \in C$ and $h(z) \in P$. From Theorem 2.3 and Theorem 2.5 we have

$$(3.2) \quad \frac{1-r}{(1+r)^2} \leq |f'(z)| \leq \frac{1+r}{(1-r)^2}.$$

Integrating (3.2) along the straight line segment from the origin to $z = re^{i\theta}$ and using the right inequality of (3.2) we obtain

$$|f(z)| \leq \int_0^r |f'(z)||dz| \leq \int_0^r \frac{1+t}{(1-t)^2} dt$$

$$= \ln(1-r) + \frac{2r}{1-r},$$

which gives the upper bound for $|f(z)|$.

In order to obtain the lower bound for $|f(z)|$, we proceed as follows: let z_1 be such that $|z_1| = r$ and satisfies $|f(z_1)| \leq |f(z)|$ for all z with $|z| = r$. Writing $\omega = f(z)$, it follows that the line segment λ from $\omega = 0$ to $\omega = f(z)$ lies entirely in the image of f .

Let Λ be the pre-image of λ . Then

$$\begin{aligned} |f(z)| &\geq |f(z_1)| = \int_{\lambda} |d\omega| = \int_{\Lambda} \left| \frac{d\omega}{dz} \right| |dz| \\ &\geq \int_0^r \frac{1-t}{(1+t)^2} dt = -\ln(1+r) + \frac{2r}{1+r}, \end{aligned}$$

which is the required lower bound.

Equality is attained on choosing $g(z) = \frac{z}{1-xz}$

and $h(z) = \frac{1+xz}{1-xz}$ for $|x| = 1$ in the representation $zf'(z) = g(z)h(z)$. \square

Theorem 3.2. Let $f(z) \in \tilde{K}$, with

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n. \quad \text{Then for } z \in E,$$

$$|a_n| \leq 2 - \frac{1}{n} \quad \text{for } n \geq 2.$$

Equality is attained for $f_0(z)$ defined in (3.1).

Proof. It follows from (1.1) that we can write

$$(3.3) \quad zf'(z) = g(z)h(z)$$

for $g(z) \in C$, with $g(z) = z + \sum_{n=2}^{\infty} b_n z^n$ and $h(z) \in P$,

with $h(z) = 1 + \sum_{n=1}^{\infty} c_n z^n$.

Equating the coefficients of z^n in (3.3), we have for $n \geq 2$,

$$na_n = b_n + \sum_{k=1}^{n-2} b_{n-k} c_k + c_{n-1}.$$

Thus for $n \geq 2$:

$$\begin{aligned} n|a_n| &\leq |b_n| + \sum_{k=1}^{n-2} |b_{n-k}| |c_k| + |c_{n-1}| \\ &\leq 3 + 2 \sum_{k=1}^{n-2} |b_{n-k}| \leq 2n - 1, \\ \text{i.e.} \quad |a_n| &\leq 2 - \frac{1}{n}, \end{aligned}$$

using Theorem 2.1 and Theorem 2.2. \square

We now consider the Fekete-Szegő problem for the class \tilde{K} .

Theorem 3.3. Let $f(z) \in \tilde{K}$ and be given by $f(z) = z + \sum_{n=2}^{\infty} a_n z^n$. Then

$$|a_3 - \mu a_2^2| \leq \begin{cases} \frac{5}{3} - \frac{9}{4}\mu, & \text{if } \mu \leq \frac{2}{9}, \\ \frac{2}{3} + \frac{1}{9\mu}, & \text{if } \frac{2}{9} \leq \mu \leq \frac{2}{3}, \\ \frac{5}{6}, & \text{if } \frac{2}{3} \leq \mu \leq 1. \end{cases}$$

For each μ , there is a function in \tilde{K} such that equality holds.

Proof. In (1.1) Theorem 2.4 gives

$$h(z) = \frac{zf'(z)}{g(z)} = \frac{1 + \omega(z)}{1 - \omega(z)},$$

so that ω is analytic, $\omega(0) = 0$ and $|\omega(z)| \leq 1$ for $z \in E$. Let $\omega(z)$ be given by:

$$\omega(z) = \sum_{n=1}^{\infty} \alpha_n z^n \quad \text{for } z \in E.$$

Then Theorem 2.2 gives

$$|\alpha_1| \leq 1 \quad \text{and} \quad |\alpha_2| \leq 1 - |\alpha_1|^2,$$

see [5]. Now (3.3) gives

$$zf'(z) - g(z) = \{zf'(z) + g(z)\}\omega(z).$$

Equating the coefficients of z^2 and z^3 on both sides we obtain:

$$2a_2 = b_2 + 2\alpha_1,$$

and

$$3a_3 = b_3 + 2\alpha_2 + 2\alpha_1^2 + 2\alpha_1 b_2,$$

so that

$$\begin{aligned} a_3 - \mu a_2^2 &= \frac{1}{3} \left(b_3 - \frac{3}{4} \mu b_2^2 \right) + \\ (3.4) \quad &+ \frac{2}{3} \left(\alpha_2 + \left(1 - \frac{3}{2} \mu \right) \alpha_1^2 \right) + \left(\frac{2}{3} - \mu \right) \alpha_1 b_2. \end{aligned}$$

We first consider the case $\frac{2}{9} \leq \mu \leq \frac{2}{3}$. Expression (3.4) gives:

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{1}{3} \left| b_3 - \frac{3}{4} \mu b_2^2 \right| + \\ &+ \frac{2}{3} \left| \alpha_2 - \frac{1}{2} (3\mu - 2) \alpha_1^2 \right| \\ &+ \frac{(2 - 3\mu)}{3} |\alpha_1 b_2| \\ &\leq \frac{4 - 3\mu}{12} + \frac{2}{3} - \mu |\alpha_1|^2 + \frac{(2 - 3\mu)}{3} |\alpha_1| = \Phi(t) \end{aligned}$$

say, with $t = |\alpha_1|$ where we have used Theorem 2.1 and Theorem 2.2 and the fact that $|b_2| \leq 1$ for

$g(z) \in C$. Since the function $\Phi(t)$ attains its maximum at $t_0 = \frac{2 - 3\mu}{6\mu}$,

$$|a_3 - \mu a_2^2| \leq \Phi(t_0),$$

which proves the theorem if $\mu \leq \frac{2}{3}$. Choosing $\alpha_1 = \frac{2 - 3\mu}{6\mu}$, $\alpha_2 = 1 - \alpha_1^2$ and $b_1 = b_2 = 1$ in (3.4), shows that the result is sharp. We note that since $|\alpha_1| \leq 1$, we have $\mu \geq \frac{2}{9}$.

Next we suppose that $\mu \leq \frac{2}{9}$. Again, (3.4) gives:

$$\begin{aligned} |a_3 - \mu a_2^2| &\leq \frac{9}{2} \mu \left| a_3 - \frac{2}{9} a_2^2 \right| + \left(1 - \frac{9}{2} \mu \right) |a_3| \\ &\leq \frac{9}{2} \mu \times \frac{7}{6} + \left(1 - \frac{9}{2} \mu \right) \frac{5}{3} = \frac{5}{3} - \frac{9}{4} \mu, \end{aligned}$$

where we have used the result already proved in case $\mu = \frac{2}{9}$, and the fact that for $f \in \tilde{K}$, the inequality $|a_3| \leq \frac{5}{3}$ holds (Theorem 3.2). Equality is attained on choosing $b_2 = b_3 = 1$, $\alpha_1 = 1$ and $\alpha_2 = 0$ in (3.4).

Now, suppose that $\frac{2}{3} \leq \mu \leq 1$. We deal first with the case $\mu = 1$. From (3.4), we have

$$a_3 - a_2^2 = \frac{1}{3} \left(b_3 - \frac{3}{4} b_2^2 \right) + \frac{2}{3} \left(\alpha_2 - \frac{1}{2} \alpha_1^2 \right) - \frac{1}{3} \alpha_1 b_2,$$

or

$$a_3 - a_2^2 = \frac{1}{3} (b_3 - b_2^2) + \frac{1}{12} b_2^2 + \frac{2}{3} \left(\alpha_2 - \frac{1}{2} \alpha_1^2 \right) - \frac{\alpha_1 b_2}{3},$$

and so

$$|a_3 - a_2^2| \leq \frac{1}{3} |b_3 - b_2^2| + \frac{|b_2|^2}{12} + \frac{2}{3} \left| \alpha_2 - \frac{1}{2} \alpha_1^2 \right| + \frac{|\alpha_1 b_2|}{3}.$$

Using Theorem 2.1 and Theorem 2.2, and the fact that $|\alpha_2| \leq 1 - |\alpha_1|^2$, we obtain:

$$\begin{aligned} |a_3 - a_2^2| &\leq \frac{1}{9} (1 - |b_2|^2) + \frac{|b_2|^2}{12} + \frac{2}{3} - \frac{|\alpha_1|^2}{3} + \frac{|a_1 b_2|}{3} \\ &= \frac{7}{9} + \frac{|b_2|^2}{18} - \frac{1}{3} \left(|\alpha_1| - \frac{|b_2|}{2} \right)^2 \leq \frac{7}{9} + \frac{|b_2|^2}{18} \\ &\leq \frac{5}{6}, \end{aligned}$$

since $|b_2| \leq 1$.

Next,

$$a_3 - \mu a_2^2 = (3\mu - 2)(a_3 - a_2^2) + 3(1 - \mu) \left(a_3 - \frac{2}{3} a_2^2 \right),$$

and the result follows at once on using the theorem already proved in the case $\mu = 1$ and $\mu = \frac{2}{3}$.

Equality is attained in this case when $b_2 = b_3 = 1$, $\alpha_2 = 1 - \alpha_1^2$ with

$$\alpha_1 = \frac{2 - 3\mu}{6\mu} \pm i \frac{\sqrt{(6\mu - 4)}}{6\mu}.$$

□

REFERENCES

- [1] M.S.ROBERTSON: *On the Theory of Univalent Functions*, Ann. Math., **37** (1936), 374–408.
- [2] Z.NEHARI: *Conformal Mapping*, McGraw-Hill, 1952.
- [3] W.KAPLAN: *Close-to-Convex Schlicht Functions*, Mich. Math. J., **1** (1952), 169–185.
- [4] W.HAYMAN: *Multivalent Functions*, Cambridge Univ. Press, 1958.
- [5] C.POMMERENKE: *Univalent Functions*, Vandenhoeck and Kuprecht Cöhringen, 1975.
- [6] R.LIBERA: *Some Radius of Convexity Problems*, Duke Math. J., **31** (1964), 143–158.

INSTITUTE OF MATHEMATICS AND INFORMATICS
BULGARIAN ACADEMY OF SCIENCES
ACAD. G. BONTCHEV STR. BLOCK 8, SOFIA – 1113, BULGARIA
E-mail address: donka_zh_vasileva@abv.bg